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QUESTION 1
Workload analysis is a design-time activity that includes which four processes? (Choose four.)
A. identifying the performance bottlenecks of the application

B. identifying the workload to be simulated or emulated in the performance tests, in terms of nhumber of actors or actor
classes and actor profiles

C. identifying the actors and actor characteristics to be simulated or emulated in the performance tests
D. clarifying the objectives of performance testing and the use cases

E. determining the performance measures and criteria

F. identifying the quality of application architecture

Correct Answer: BCDE

QUESTION 2

What does checking "Show References" in the Test Data view do?

A. highlight the regular expression being used to capture each reference
B. jump forward from a response to the correlated request that refers to it
C. jump back from the correlated request to the response that refers to it
D. display automatically correlated data values in tabular form

Correct Answer: D

QUESTION 3

Which statement is true about a custom code segment?

A. It can use any string highlighted in orange as an input variable.

B. It can use one or more references that precede it as input variables.
C. It can use one or more references that follow it as return values.

D. It always returns null unless there has been a correlation error.

Correct Answer: B

QUESTION 4
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Your test has three groups: 40% of the users are assigned to User Group 1, 60% of users are assigned to User Group
2, and 1 user is assigned to User Group 3. The user load is set to 51 users How many users are assigned to Group 1?

Al

B. 20
C. 40
D. 60

Correct Answer: B

QUESTION 5

What happens to all the page elements in a test?

A. They are grouped by page unless the application under test uses AJAX.

B. They are grouped by page as a visual aid to enhance readability.

C. They are assigned dynamically to separate virtual testers at playback time.
D. They use separate records from a single datapool.

Correct Answer: B
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